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1. Rewrite in standard form. Identify the leading coefficient, degree of the

polynomial, and the number of terms. ( \ Tenmg
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2. Multiply. Write your answer in standard form.

a) (a-3)a*-5a+2)
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b) 2xy(4y* —xy+3)
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3. Multiply. (x-5)°
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4. Divide by u;ing long division.

Q) (-5x*+6x-10)+(x+7) b) (y'+10y* +21)+(p* +3)
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[image: image2.png]5. Divide by using syleﬂc division.

a) (8x‘—6x2+4x+6)+(x—%-) | b)) (7¥ ——k5x+3)~:-(x——1)
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6. Use synthefic substifufion To evaluate the polynomial for

P(x)=5x>-8x+3 forx=4
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7. Use synfhe’nc dIVISlOH to determine if the given binomial IS a factor of P(x).
P(x)=x"-2x"+7x+9; x-3
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8. Explain why 15x2 +4x is not a polynomial.
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9. Add or subtract. Write your answer in standard form.

a) (12x3—5x’—70x+l)+(—1;7x3 +56x) E 5X2-- SXL~)9{)Q*/‘) ’

b) (6x* -18x+3)—(14x* -12x+9) T -
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10. Factor the trinomi

2+21x+9




